
325-0462

325-0463 325-0461

450-0112

Parts List

Some mounting holes are a very tight fit. This was done to ensure no slop in the connections. 
You may ream the holes larger if necessary. 

RC4WD Mojave II Two Door Complete Interior w/Metal Details

The parts outlined in red are not needed for the 2 door interior kit.



1

4

7

10

13

2

5

8

11

14

3

6

9

12

15

BHCS M2.5x6
Self-tapping screws

BHCS M2.5x6
Self-tapping screws

BHCS M3x6
Self-tapping screws

BHCS M3x10
Self-tapping screws

BHCS M3x10
Self-tapping screws

BHCS M3x6
Self-tapping screws

RC4WD Mojave II Two Door Complete Interior w/Metal Details

                        100-0037


